RGRBNT L EEE LR A B2

LFry)  THER - # 8 :ﬁ@%B % | 5z / E

=

IR (RH+4)

T TR e T T DR TR MBS - igst > &
FRELK . Bk EJr%%A%%?ﬁﬁ%%ﬂﬁfs_b%@E% CEERIGEEEt
BAR - 54 DISarsroussy) » MELAMEFIFAE £ 280 B » B—HA 3% 5
BRI SARAAIES 8 5 4000 5t - M B AR ARSI (i EARRY R -
{ W TR B e e - BN RIERMTERBET 600 BEBAREL
RITAESET -
SHE- (R ~ﬂ§A7&%§%ﬁ)§§%ﬁéA?@§ﬁ%E@ﬁﬁ% NERERFS TS
FITS REH - 53— 5787 » Sy BRI T ik T "B B ety
DURITEEHEAT] - BAVE S 2= ﬁ%/{$§§%}—§%ﬁ’§%$%~ﬁ%5%% ?
(1053) FefTe-Rie - BATH  ME - Burse - RERMERE TR
RIEUBE IR 5 - ﬁf%ﬁ‘ﬁ%ﬁr’ﬁ%ﬁ?ﬁi@%ﬂ’ﬂﬁ*ﬁ (4043) -



Administrator
註解
第二題出題教師不公布試題。


RERBATEZLEEBLHBANSE RRE
Al TR N % | AE /E

et FYURTIRE o 45RE 25 4
— > FAEILEURTE AR R —H Georg Simmel AHA I S SRS —FTE
TEERER?. (Mama : REER /5% B~ NE > R bite /i
C&1b)

=~ FHR Max Weber 78 ( BB S M B A S0 ) — = chpghshsass -
Bl Max Weber flfa[smilt " 5REGES ) B TIRETTE), > LIRS < RERERD
TE? (MsEE ey MERL  FAXHTAER £553] - AT A
B L)

+ (A) BIEERRE e Ll E B T B M RoRER e TR
(social formation) - SRR SEATAMAFE L ~ TRELEWER? (B) =
THACLIZR - B S F LA E TR SR PR et » S5 T
FIRERYER L - E (NS
1. Antonio Gramsci

~2.  Louis Althusser
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3. Nicos Poulantzas

4. Jiurgen Habermas _
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1.~ Pierre Bourdieu
2. Norbert Elias

3. Anthony Giddens
4. Margaret Archer
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1. Grounded theory begins with

A. Patterns

B. Hypothesis

C. Key variables

D. Data collection

2. Professor Hwang thought that mathematical ability was a function of age. Hwang
collected data on people aged 5 to 22, and her analysis yielded the following equation:
M =25 + 5A where M = mathematical ability and A = age. Hwang was asked to predict
the mathematical ability of a 24 year old. Hwang’s answer should be
A. 145
B. 120

C. extrapolation is untrustworthy

D. interpolation is untrustworthy

3. Acodebook contains the following information:

COLUMNS . DESCRIPTION
1-4 Student’s Identification #
5 Student’s Major

1 = Chinese

2 = Philosophy

3 = History

4 = English Literature
6 Student’s Grade

1 =90 and above

2 = 80-89

3 =70-79

4 = 60-69

5 =below 60

6 = don’t know

7 =no answer
The following data applies to the codebook -- 122036. This data
A. represents the 1220™ student selected using simple random sampling whose major is
History '
represents a student majoring in Chinese and whose grade is between 80 and 89

=

C. represents the 1220™ student selected in the History department

o

represents a History student whose identification number is 1220 and whose grade is
unknown
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4. Whlch of the followmg modes of observation requires the researcher to intrude to some .
degree on ‘whatever he or she is studymg‘? (KA HHE)

A. 'Expenments

B. Survey . : ’

C. . Complete participant observation . } S ‘

D. Complete observer : - g

5., Which of the followmg statements 1s(are) false concernmg some stat1st1cs or techniques
commonly used in quantitative data analysis? (ARBEHHE)
~A. Half the cases are above the mode and half the cases are below the mode
B. Both lambda and Pearson’s product moment correlation are based on guessing the
mean. ‘
C. The mean is a useful stat1stlc when there is great dlspanty in a distribution.
D. 'Frequency dlstrlbutlons indicate the number of times that variables are observed.
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